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1. Pemmre HepaBeHCTBO:

2. Pemite HEpaBEHCTBO: 1Jr ! - 2 > 0.
x x+1 x+2

3. Pernte HepaBeHCTBO: 418 4 y1ogax > 0/4.
4. Pemmre nepaBenctso log, ;(x—1)-log, ;(x+2) <O.

8 10
5. Pemnte HepaBeHCTBO log, — — > 0.
x log,l6x

6. Periute HepaBeHCTBO: 20° — 64 -5 — 47+ 64 < 0.

2 _
7. Pemmre HEPABEHCTBO: x° + 5x% + w <5.
T

lg(3x+2y/x—2) - logy; 10
lg(5x+3y/x—3)3 = logz 10~

8. Pemmte HepaBeHCTBO:

9. Pemute HEpaBeHCTBO: |2x — 6|x+1 +2x—6] " <2

10. PemnTe HepaBeHCTBO

-2

togy (77 =3) (777419 =1)) +log, % > tog, (777 - 2) >

11. Pemmre HepaBeHCTBO: logs(—log, x) +2log, logsx < 5.
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12. PemnTe HEpaBeHCTBO: —— +

=
\
—_
)
\
=
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)

X2—2x+2 3x+2 4x—1
+ < )

13. Pemnte HepaBEeHCTBO: <
x2—2x x+1 x

14. Pemmre HepaBeHcTBO: x> — (34 v/5)x+3v/5 <0.

6
3x+1°

4
243
X+%5X+x<

o1
15. Pemnte HEepaBeHCTBO: og( )

17
16. Pemute HepaBeHCTBO: 55+ 5% > T

17. Pemnte HepaBeHCTBO: |2x+ 3| —x|x| <O0.

02
18. Pemmre HepaBeHCTBO: 5'°%5F 4+ x10%5% > 2/5,
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Pemnre HepaBeHCTBO

(P +x) g +2x—2)

Pemmre HepaBeHCTBO:

Pemute HepaBeHCTBO:

Pemure HepaBeHCTBO

Pemute HepaBeHCTBO: le(5x+3yx—2)° = Togy 11"

=322 +3x-3 N 1
x*—3x - x—2

logs, 33+log(, 11227 >2.

lg(Bx+2vx—1) _ logs 11
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e —1]

PemuTe HepaBeHCTBO:

PemuTe HepaBeHCTBO

(x2—x—6) -v/8—x<0.

- lg(—x2—2x+2)2.

x—1

21ogy (4x* +1) > logy (3x* +4x+1).

1
+ -
X

(4x2—x—6 _ 1) '1080.25 (4x2+2x+2 _ 3) < 0.

Pemmure HEPABCHCTBO:

Pemnre HepaBeHCTBO:

Pemute HepaBeHCTBO

Pemute HepaBeHCTBO

1-—

9 —-3*—-90
Z 7 T<

10glogx2x(6x - 2) >0.

1.

3¥—82

4 _16
e~ X

log,3+2log;, 3 —6logg, 3 < 0.

Pemnre HepaBeHCTBO:

Pemnte HepaBEeHCTBO:

Pemmre HepaBeHCTBO

Pemmre HepaBeHCTBO

Pemnre HepaBeHCTBO

: 10g0.25(x+1)2 (

x+7
4

D 9¥ 3 <82,

Pemnte HepaBeHCTBO:

Pemute HepaBeHCTBO

VT—x<

Pemute HepaBeHCTBO:

2016-10-21

)=

log, 5(x* — 12x436) < 0.

10 5x—21\% 25
T ) <=
5x—21 10 =4

2 25x2—10x—8
25x2 —10x—8 2

2
) =+

logy (x* —x —3) +logs (2x* +x — 3) > log; (x* — 2)? +2+log; 4.

vx—1

V341 —5.2041 43 >0° 3,

Va3 —6x2+14x—17
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Pemnre HepaBeHCTBO:

Pemmmre HepaBeHCTBO:

Pemute HepaBeHCTBO

PemuTe HepaBeHCTBO

Pemute HepaBeHCTBO:

Pemnre HepaBeHCTBO:

Pemnte HepaBEeHCTBO:

Pemute HepaBeHCTBO

Pemure HEPABCHCTBO:

Pemute HepaBeHCTBO

Pemnre HepaBeHCTBO

PemuTe HepaBeHCTBO:

Pemnte HepaBEHCTBO:
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19-4%+47% < 20.

logy,_;(4x—5)+log, s(2x—1) <2.

2xlog;6+log; (4" —2) <2x+ 1.

~ In(3y* —2y+

1) < log;s 3

In(5y> — 6y +

24+6x+8

1) = log;3

x+4

x+1 B

2log,

x+2

x—3,7

log, (VX2 4+x—241)-log;(x* +x+1) < log,3.

—5—x

1 -
Og47x X _4

log%v1 7< log%

X243x+2

3x—|x+8]—]1—x| < —6.

+log, (x —3,7)> > 2.

<-—1.

7.

S 3410337 > 37.

2 < 6425

(2”’7“—1) 2 6V/2 +8 > 0.
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